
22

PM5DW series

●

■

●

●

●

■ご注文に際して

PM5DWPM5DWPM5DWPM5DWPM5DW ----- 4040404040 VVVVV 66666
① ② ③

① ：34, 37, 40, 50, 64
② ：Ｖ…

③

Ｈ…

Ｂ…

：

■
34, 37, 40, 50, 64

5.0mm

　

125V

1A

　（50/60Hz）

AC500V･1 （ ） 
AC2000V･1

1000MΩ　
DC500V ） 

10～55Hz/  1.5mm
491m/s2　（ 50G）

-20～+55℃

-25～+85℃

45～85% 

50N

2.6mm　 φ3

■

11

PM5DW

Automation
テキスト ボックス
How To Order

Automation
テキスト ボックス



23

■Standard MIL Connector Model

PM5DW-34V/H/B

*Connector pin assignments can be reversed if using the back facing terminal connector. 

＊ Long length models available.  Please see page 18 for details.

PM5DW-40V/H/B

9 173 25 27

0

29 3119 331

3230282624222018161412108642

11 135 217 2315

35
.3

 (1
.3

9"
)

47
 (1

.8
5"

)

60
 (2

.3
6"

)

φ4.5

104  (4.09")

96 (3.78")

2.
8 

(0
.1

1"
)

0
1

2
3

4
5

6
7

8

19
20
21

22
23 25

26
27

28
29

W
iri

ng
T
B
 

N
o.

1 2 3 4 5 6 7 8 9 14

24

C
N
 

N
o.

9

10

10

11

11

12

12

13

13
14
15

16
17

18

171615

30
31

32
33

1 2 3 4 5 6 7 8 9 1410 11 12 13 171615

A
B

22
 (0

.8
7"

)
7 

(0
.2

8"
)

φ9

φ4.5

Mounting hole diagram 

（Mounting Screw：M4） 

（Back facing connector cutting 
diagram）  77 (3.03")

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
）
 1
4.
2 

 (0
.5

6"
)

51
 (2

.0
1"

)

φ4.5

W
iri

ng
　

T
B
 

N
o.

C
N
 

N
o.

9 173 25 27

0

29 3119 331

3230282624222018161412108642

11 135 217 2315

34

35

36

37

38

39

1 2 3 4 5 6 7 8 9 1410 11 12 13 171615

1 2 3 4 5 6 7 8 9 1410 11 12 13 171615

A
B

18
18

19
19

20
20

0
1

2
3

4
5

6
7

8

19
20
21

22
23 25

26
27

28
29

24

9
10
11

12
13

14
15

16
17

18 30
31

32
33

34
35

36
37

38
39

φ9

φ4.5

Push-In Terminal Block 50mm Pitch 
Half Sized Terminal Block

PM5DW

（Mounting Screw：M4） 

Mounting hole diagram 

47
 (1

.8
5"

)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

104  (4.09")

96 (3.78")

  77 (3.03")

14
.2

  (
0.

56
")

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

22
 (0

.8
7"

)
7 

(0
.2

8"
)

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
） （Back facing connector cutting diagram）

*Connector pin assignments can be reversed if using the back facing terminal connector. 

＊ Long length models available.  Please see page 18 for details.



24

■Standard MIL Connector Model

PM5DW-50V/H/B

PM5DW-64V/H/B

463836343230282624222018161412108642

11 135 217 23159 173 25 27

0 42

29 3119 33 35 37 39 41

40

43 45 47 491

4844

φ4.5

121(4.76")

129 (5.07")

0
1

2
3

4
5

6
7

8

19
20
21

22
23 25

26
27

28
29

T
B
 

N
o.

1 2 3 4 5 6 7 8 9 14

24

C
N
 

N
o.

9

10

10

11

11

12

12

13

13
14
15

16
17

18

171615

30
31

32
33

1 2 3 4 5 6 7 8 9 1410 11 12 13 171615

A
B

18
34
35

18
19

36
37

19
20

38
39

20
21

40
41

21
22

42
43

22
23

44
45

23
24

46
47

24
25

48
49

25

φ9

φ4.5

23 3117 39 41

0

43 4533 47 49 51 53 55 57 59 61 631

626058565452504846444240383634323028262422201816

25 2719 3521 3729

2

3

4

5

6

7

8

9

10

11

12

13

14

15

164 (6.46")
156 (6.14")

φ4.5

0
1

2
3

4
5

6
7

8

19
20
21

22
23 25

26
27

28
29

T
B
 

N
o.

1 2 3 4 5 6 7 8 9 14

24

C
N
 

N
o.

9

10

10

11

11

12

12

13

13
14
15

16
17

18

171615

30
31

32
33

1 2 3 4 5 6 7 8 9 1410 11 12 13 171615

A
B

18
34
35

18
19

36
37

19
20

38
39

20
21

40
41

21
22

42
43

22
23

44
45

23
24

46
47

24
25

48
49

25
26

50
51

26
27

52
53

27
28

54
55

28
29

56
57

29
30

58
59

30
31

60
61

31
32

62
63

32

φ9

φ4.5

PM5DW series
PM5DW

（ 92 (3.62")

109 (4.29")

（Mounting Screw：M4） 

（Mounting Screw：M4） 

Mounting hole diagram 

Mounting hole diagram 

47
 (1

.8
5"

)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

14
.2

  (
0.

56
")

22
 (0

.8
7"

)

7 
(0

.2
8"

)
47

 (1
.8

5"
)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

 1
4.
2 

 (0
.5

6"
)

22
 (0

.8
7"

)
7 

(0
.2

8"
)

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

W
iri

ng
　

W
iri

ng
　

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
） （Back facing connector cutting diagram）

*Connector pin assignments can be reversed if using the back facing terminal connector. 

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
）

（Back facing connector cutting diagram）

*Connector pin assignments can be reversed if using the back facing terminal connector. 



25

■D-Sub Connector Model

PM5DW-37V3A/B3A （JAE connector P/N：DC-37P-T-N） 
PM5DW-37V4A/B4A （Hirose connector P/N：SDCB-37P）

■MR Connector Model HTK (Honda Tsushin Kogyo)

PM5DW-34V8/B8 (Male connector P/N：MR-34RMD2)
PM5DW-34V8-F/B8-F (Female connector P/N：MR-34RFD2)

9 173 25 27

0

29 3119 331

323028

35

36342624222018161412108642

11 135 217 2315

1 19

20 37

φ4.5
0
1

2
3

4
5

6
7

8

19
20
21

22
23 25

26
27

28
29

T
B
 

N
o.

1 2 3 4 5 6 7 8 9 14

20 21 22 23 24 25
24

C
N
 

N
o.

9
10

10
11

11
12

12
13

13
14
15

16
17

18
1918171615

26 27 28 29 30 31 32 33 34 35 36 37

30
31

32
33

34
35

36

φ9

φ4.5

9 173 25 27

0

29 3119 331

3230282624222018161412108642

11 135 217 2315

φ4.5

0
1

2
3

4
5

6
7

8
9

10
11

12
13 15

16
17

18
19

T
B
 

N
o.

9 11 12
13

28

1 2 3 4 5 6 7 8

14

10

C
N
 

N
o.

29 30 31 32 33 34

14 15 16 17 18 19 20 21 22

2726252423

20
21

22
23

24
25

26
27

28
29

30
31

32
33

1

13

23

12

22

34

φ9

φ4.5

PM5DW

（Mounting Screw：M4） 

（Mounting Screw：M4） 

Mounting hole diagram 

Mounting hole diagram 

47
 (1

.8
5"

)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

47
 (1

.8
5"

)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

（
Ba

ck
 ty

pe
 p

an
el

 c
ut

tin
g 

di
ag

ra
m
）
 

14
.2

  (
0.

56
")

22
 (0

.8
7"

)

7 
(0

.2
8"

)
22

 (0
.8

7"
)

7 
(0

.2
8"

)

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

Push-In Terminal Block 50mm Pitch 
Half Sized Terminal Block

W
iri

ng
　

W
iri

ng

104  (4.09")

96 (3.78")

104  (4.09")

96 (3.78")

  77 (3.03")

  77 (3.03")

14
.2

  (
0.

56
")

＊ Long length models available.  Please see page 19 for details.

＊ Long length models available.  Please see page 20 for details.

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
） （Back facing connector cutting diagram）

（Back facing connector cutting diagram）



26

■MR Connector Model HTK (Honda Tsushin Kogyo) 

PM5DW-50V8/B8  (Male connector P/N：MR-50RMD2) 
PM5DW-50V8-F/B8-F (Female connector P/N：MR-50RFD2)

φ4.5

1 18

19 32

33

463836343230282624222018161412108642

11 135 217 23159 173 25 27

0 42

29 3119 33 35 37 39 41

40

43 45 47 491

4844

9 11 12 13

28

1 2 3 4 5 6 7 8 10

29 30 31 32
33 34

14 15 16 17 18
19 20 21 22 2726252423

35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50

0
1

2
3

4
5

6
7

8
9

10
11

12
13 15

16
17

18
19

T
B
 

N
o.

14 20
21

22
23

24
25

26
27

28
29

30
31

32
33

34
35

36
37

38
39

40
41

42
43

44
45

46
47

48
49

C
N
 

N
o.

50

φ9

φ4.5

PM5DW series
PM5DW

（Mounting Screw：M4） 

Mounting hole diagram 

47
 (1

.8
5"

)

60
 (2

.3
6"

)

51
 (2

.0
1"

)

 1
4.
2 

 (0
.5

6"
)

35
.3

 (1
.3

9"
)

2.
8 

(0
.1

1"
)

22
 (0

.8
7"

)
7 

(0
.2

8"
)

Push-In Terminal Block 50mm Pitch 
Half Sized Terminal Block

W
iri

ng

121(4.76")

129 (5.07")

92 (3.62")

（
Ba

ck
 fa

ci
ng

 c
on

ne
ct

or
 c

ut
tin

g 
di

ag
ra

m
）

（Back facing connector cutting diagram）



14

■
2 0 P2 0 P2 0 P2 0 P2 0 P 3 0 P3 0 P3 0 P3 0 P3 0 P 3 4 P3 4 P3 4 P3 4 P3 4 P 4 0 P4 0 P4 0 P4 0 P4 0 P 5 0 P5 0 P5 0 P5 0 P5 0 P

V/B 4­172092­3 ― 4­172092­5 4­172092­6 4­172092­7
499922­4※ 499922­7※ 499922­8※ 499922­9※ 1­499922­0※

H 4­172094­3 ― 4­172094­5 4­172094­6 4­172094­7
1 AMP 499786­4※ 499786­7※ 499786­8※ 499786­9※ 1­499786­0※

4­172083­3 ― 4­172083­5 4­172083­6 4­172083­7
746285­4※ 746285­7※ 746285­8※ 746285­9※ 1­746285­0※
4­172145­3 ― 4­172145­5 4­172145­6 4­172145­7

―※ ―※ ―※ ―※ ―※
V/B XG4A­2031 XG4A­3031 XG4A­3431 XG4A­4031 XG4A­5031

2 H XG4A­2034 XG4A­3034 XG4A­3434 XG4A­4034 XG4A­5034
XG4M­2030 XG4M­3030 XG4M­3430 XG4M­4030 XG4M­5030
XG5M­203＊ XG5M­303＊ XG5M­343＊ XG5M­403＊ XG5M­503＊

V/B PS­20PE­D4T1­LP1 PS­30PE­D4T1­LP1 PS­34PE­D4T1­LP1 PS­40PE­D4T1­LP1 PS­50PE­D4T1­LP1

3 H PS­20PE­D4LT1­LP1 PS­30PE­D4LT1­LP1 PS­34PE­D4LT1­LP1 PS­40PE­D4LT1­LP1 PS­50PE­D4LT1­LP1
PS­20SEN­D4P1­1C PS­30SEN­D4P1­1C PS­34SEN­D4P1­1C PS­40SEN­D4P1­1C PS­50SEN­D4P1­1C
PS­D4C20 PS­D4C30 PS­D4C34 PS­D4C40 PS­D4C50

V/B HIF3BA­20PA­2.54DSA HIF3BA­30PA­2.54DSA HIF3BA­34PA­2.54DSA HIF3BA ­40PA­2.54DSA HIF3BA­50PA­2.54DSA

4 H HIF3BA­20PA­2.54DS HIF3BA­30PA­2.54DS HIF3BA­34PA­2.54DS HIF3BA­40PA­2.54DS HIF3BA­50PA­2.54DS
HIF3BA­20D­2.54R HIF3BA­30D­2.54R HIF3BA­34D­2.54R HIF3BA­40D­2.54R HIF3BA­50D­2.54R
HIF3BA­20D­2.54C HIF3BA­30D­2.54C HIF3BA­34D­2.54C HIF3BA­40D­2.54C HIF3BA­50D­2.54C

V/B FCN­704Q020­AU/M FCN­704Q030­AU/M FCN­704Q034­AU/M FCN­704Q040­AU/M FCN­704Q050­AU/M

5 H FCN­705Q020­AU/M FCN­705Q030­AU/M FCN­705Q034­AU/M FCN­705Q040­AU/M FCN­705Q050­AU/M
FCN­707B020­AU/O FCN­707B030­AU/O FCN­707B034­AU/O FCN­707B040­AU/O FCN­707B050­AU/O
FCN­723D020/2 FCN­723D030/2 FCN­723D034/2 FCN­723D040/2 FCN­723D050/2

V/B ― 　　　　― 　　　　― FCN­364P040­AU ―
H ― ― ― FCN­365P040­AU ―

6 ― ― ― FCN­367J040­＊＊/＊ ―
― ― ― FCN­363J040­＊＊ ―
― ― ― FCN­361J040­＊＊ ―

V/B MFC­20RPM MFC­30RPM MFC­34RPM MFC­40RPM MFC­50RPM

7 H MFC­20RLPM MFC­30RLPM MFC­34RLPM MFC­40RLPM MFC­50RLPM
MFC­20RFC MFC­30RFC MFC­34RFC MFC­40RFC MFC­50RFC
MFC­20HF MFC­30HF MFC­34HF MFC­40HF MFC­50HF

V/B MR­20RMD2 　　　　― MR­34RMD2 　　　　― MR­50RMD2
8 MRP­20F01 　　　　― MRP­34F01 　　　　― MRP­50F01

MR­20F 　　　　― MR­34F 　　　　― MR­50F

9

V/B FAP­2001­1204­OBS FAP­3001­1204­OBS FAP­3401­1204­OBS FAP­4001­1204­OBS FAP­5001­1204­OBS

10 H FAP­2001­1202­OBS FAP­3001­1202­OBS FAP­3401­1202­OBS FAP­4001­1202­OBS FAP­5001­1202­OBS
FAS­2001­2101­OBF FAS­3001­2101­OBF FAS­3401­2101­OBF FAS­4001­2101­OBF FAS­5001­2101­OBF
UFS­20B­04 UFS­30B­04 UFS­34B­04 UFS­40B­04 UFS­50B­04

V/B 6201­020­256 6201­030­256 6201­034­256 6201­040­256 6201­050­256

11 H 6201­020­258 6201­030­258 6201­034­258 6201­040­258 6201­050­258
6200­020­601 6200­030­601 6200­034­601 6200­040­601 6200­050­601

― ― ― ― ―
V/B FRC5­C20S53T­OL FRC5­C30S53T­OL FRC5­C34S53T­OL FRC5­C40S53T­OL FRC 5­C50S53T­OL

12 H FRC5­C20L53T­OL FRC5­C30L53T­OL FRC5­C34L53T­OL FRC5­C40L53T­OL FRC 5­C50L53T­OL
FRC5­A020­2TOS FRC5­A030­2TOS FRC5­A034­2TOS FRC5­A040­2TOS FRC5­A050­2TOS

― ― ― ― ―
V/B RX­H201TD­1190 ― RX­H341TD­1190 RX­H401TD­1190 RX­H501TD­1190

13 J S T H RX­H201SD­1190 ― RX­H341SD­1190 RX­H401SD­1190 RX­H501SD­1190
RX­S201S­1390 ― RX­S341S­1390 RX­S401S­1390 RX­S501S­1390

― ― ― ― ―
V/B 3428­6002LCSC 3440­6002LCSC 3431­6002LCSC 3432­6002LCSC 3433­6002LCSC

14 3M H 3428­5002LCSC 3440­5002LCSC 3431­5002LCSC 3432­5002LCSC 3433­5002LCSC
7920­F500SC 7930­F500SC 7934­F500SC 7940­F500SC 7950­F500SC

― ― ― ― ―

user5
長方形

user5
長方形

user5
長方形

Automation
テキスト ボックス
Obsolete

user5
長方形

Automation
テキスト ボックス
Obsolete

Automation
テキスト ボックス
Obsolete



15

■

＊＊ ＊＊
＊＊ ＊＊

■

■
●
●
●

●
●

●

　

　

　
　
　
　
　
　
　
　
　

　
　

　
　
　
　

　

　

　
　
　

　
　
　

6 4 P6 4 P6 4 P6 4 P6 4 P

―
1­499922­1※

―
1­499786­1※

―
1­746285­1※

―
―※

XG4A­6431
XG4A­6434
XG4M­6430

―
―
―
―
―

HIF3BA­64PA­2.54DSA
HIF3BA­64PA­2.54DS
HIF3BA­64D­2.54R
HIF3BA­64D­2.54C
FCN­604Q064­G/M
FCN­605Q064­G/M
FCN­607D064­G/B
FCN­723J064/2
FCN­364P064­AU

―
FCN­367J064­＊＊/＊
FCN­363J064­＊＊
FCN­361J064­＊＊
MFC­64RPM
MFC­64RLPM
MFC­64RFC

―
―
―
―

―
FAP­6401­1204­OBS
FAP­6401­1202­OBS
FAS­6401­2101­OBF

―
―
―
―
―

FRC5­C64S53T­OL
FRC5­C64L53T­OL
FRC5­A064­2TOS

―
―
―
―
―

3764­6002LCSC
3764­5002LCSC
7964­F500SC

―

①
②
③

user5
長方形

user5
長方形

user5
長方形



156

■

■

UL

：



157

■

■

UL・C-UL

：



158

■

：

CSA

：



159159

■

CSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSACSA

★  ★  ★ The products and specifications described in this manual or the content and presentation of  the 
manual may be changed without notice to improve the product and/or the manual.

Automation
タイプライタ
Obsolete

Automation
タイプライタ
FAB- (    ) 01-1204-OBS

Automation
タイプライタ
FAB- (    ) 01-1202-OBS

Automation
タイプライタ
3 (        )  - 6002LCSC

Automation
タイプライタ
3 (        ) - 5002LCSC

Automation
タイプライタ
(   ) : Connector pin number

Automation
タイプライタ
(        ) : Pin number code          
662: 10P, 408: 16P, 428: 20P, 440: 30P, 431: 34P, 432: 40P
433: 50P



	Toho Push-in terminal for servo PM5DW
	Toho Push-in terminal for servo PM5DW
	hp_pdf_cntb_pm5dw


	Connector  UL,CSA selection
	バインダー1
	c-ichiran (1)

	UL,CSA compliance




